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ELECTIVE COURSE : COMMERCE 

ECO-11 : ELEMENTS OF INCOME TAX 

Time : 2 hours 	 Maximum Marks : 50 

Note : Question no. 1 is compulsory and attempt any three 
questions from the remaining questions. 

1. 	From the following particulars of income of 14 
Mr. Anil Kumar, compute his total income for the 
Previous Year 2012-13 (Assess year 2013-14) : 

Rs. 

Salary (per month) 

Contribution to Recognised 

Provident Fund 

30,000 

12% 

Contribution by employer 63,600 

Dividend on units of U.T.I 12,000 

Interest on government 

securities 

12,000 

Life Insurance Premium 10,000 
Interest on loan taken for 2,000 
purchase of securities 

Contribution to Public 	4,800 
Provident Fund 
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2. (a) State the main provisions relating to 6,  6 
taxation of house rent allowance. 

(b) State the deductions allowed from Gross 
Total Income to encourage personal savings. 

3. (a) Distinguish between capital receipts and 6, 6 
revenue receipts, and state the importance 
of such distinction from the point of view 
of taxation. 

(b) Explain the rules regarding taxation of 
death-cum-retirement gratuity. 

4. (a) Roopesh is the owner of a large house. Its 8, 4 
municipal value is Rs. 1,20,000. One-third 
(1/3) part of this house is let out for a rent 
of Rs. 10,000 per month, and in the 
remaining 2/3 part he resides himself. 
Annual municipal tax was paid for the 
whole house amounting to Rs. 12,000. Other 
details are as follows : 

Rs. 

Insurance Premium 	15,000 

Land Rent 
	

5,000 

He had taken a loan of Rs. 10 lakh on 1st 
April in 1998 at an interest of 12% p.a., and 
had completed the house on 31st March 
2004. Compute his taxable income from 
house property for the Assessment year 
2013-14. 

(b) What is PAN ? State any two transactions 
in case of which it is compulsory to mention 
PAN. 
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5. (a) What do you mean by 'capital asset' ? State 6, 6 
the assets that are not included in it as per 
the provisions of sec. 2(14) of the Income 
Tax Act. 

(b) Mr. Mahesh had purchased a house in 1975 
for Rs. 1,50,000. Fair market value of the 
house as on 01-04-1981 was Rs. 2,50,000. 
He carried out some improvements in the 
house the cost and dates of which one as 
follows : 

Cost 	Date 

	

Rs. 30,000 
	

April, 1978 

	

Rs. 50,000 
	

August, 1984 

He sold the house property on 15-06-2012 
for Rs. 30,00,000. The selling expenses 
incurred in relation thereto amounted to 
Rs. 1,00,000. Compute his amount of capital 
gain. Which is taxable for the previous year 
2012-13. 

Relevant cost of Living Index 

1981-82 100 

1984-85 125 

2012-13 852 

6. Write short notes on any two of the following : 6, 6 

(a) Bond washing transactions 

(b) Capital Carry Forward of Losses 

(c) Taxation of Dividends 

(d) Taxation of Agricultural Income. 
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1-11c1ch ZMIET chi ch1-1 

	 TRIATI 

'‘7, 2014 

Liicktistoi : 

: arrzrwt 

TfrizT : 2 	 31-A W673.  37W : 50 

V12: 	‘kHp-eitl 31fTdPitl q)EY 71 	F7 5 51 7):  

dtH figq- / 

1. 	3ft. 31-F9-c 	4)1 3Trzt 	rod femur Tru 	14 

2012-13 (cht falTiTur a 	 2013-14 )t     141 

cbk trzt 3Trzt ch1 	: 

7. 

c11 	d 4-im) 	 30,000 

4-11-qc11 Trlifq-ISq -11N -4 3itql-9. 	12% 

F-1441.mi gl(1 3-fTqFqff 	 63,600 

It.31-1. 4;1 'TM 	rsrcis 	12,000 

717-*-1-4 51fd 	011,11 	3ITNI 	12,000 

10,000 

criffft 9hi Frm ic-R 7TH 	2,000 

.)1tU I -9-T ceim 

fil~Aker) itrquEf PIN 	 4,800 

(PPF) al* q19 
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2. (a) 	4-1a11,1 -4-71-4T 	(HRA) 	ch(Nri (-1.01q1.  11-Cal 6, 6 
iiciqr4 chi 3— tc1 --tR7 I 

(b) 	oirck141cf 	 .6cbc-t 
3171 (GTI) 	74 q1 \7114 	cheIrdq).  

3. (a)tAtTm i;r1-fwft 	7rr-cfft 3-f-ffT 	6, 6 
a~rr ahtI 	cril 1-nrEz 	94-q 

(b)c 31-qTh-RT7tuile tiq-9 -F-174 
ci-C1 ciRs.611 tr- 7 

4. (a) 	T1:1-71 -R-W 	'EFT 	t I 	 chi  •-141t41 richt 8, 4 
-V-T1 1,20,000 T. t I TRpit .WT (1/3) 94P1 
10,000 T. -7fff 174 t ftTr7 -ER 6alq1 	t-a2ir 
tEr (2/3) ii-Fr aTq-Tf 	 t I t 
12,000 T. 	=F 14R141R-ichi apt 	t>4 14 11-TT1T9.  
f 	4R I 	#.4-fim 	-0-r 1:14-1616d 
: 

tr-q-7T 1:Tf T 	15,000 
chl 	fir 	5,000 

4) Fri 	_3-11I, 1998 ch.) 12% -5rfff 
.14 	-crT 10 7M.  T. chl 	T f -zrr.  24-r AT 
31 4-114 2004 171 Hchh-1 	T ft-zrr 21-r 	fffq-i-To-r 
c4 2013-14 t rmi 6(-1 111 4-1111-1 #1:1f7 5l i k1 
ch( 	31711;1 win ---1F77 I 

(b) T-9-T7ft iNT7T ii&sql (PAN) atli t? 	 t 
tr 	trr-47 fir Tqrt 7yr-dr 4tsit tr 

ftqr 	31-r---a7zrt 61cil ti 
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5. (a) 	tqlTM Tfrifffazliil10:171` t? 	rlq •  T 6, 6 
3Trzr*-7 3TRTF-9-zp=r ch1 q-ru 

2(14) t 	3-td-r7 

(b) 	s3ff l'itqT -4 1,50,000 T. 	1-) Halm 1975 4 9bq 
-FW"dT 24T I 01-044981 ch) 	4-Ich 	GIIAR 
9I 2,50,000T. -TT I 	4-Ichl-1 14 TO TIT{ t*-7 

f9--*-1-  0141d -d R-IWE F-14--ircir(5o 	: 

C11 4 1c1 

30,000 T. 	3-11 , 1978 

50,000 T. 	3TTRE, 1984 

15-06-2012 ch.) 	 oh 30,00,000 T. 
1,00,000 T. fd-WTI 

.t)t-i 14 U4 f*-713 	Ttff aui 2012-13 t 
fri 	 ant TrFq VrTm  	TCRT 	 

(1141dT2-1-Tfff 	 Pi 4-11-o 	RAd t : 
1981-82 	100 
1984-85 	125 
2012-13 	852 

6. 11 f"-*-tt ITT cif arcTi re*yruiiif 	: 6, 6 

(a) rq,clicia (;.-1 -9-  (Bond washing transactions) 

(b) .1-411Td.  tfr9t ch) 3lT4 c‘ ,111-11 (Carry Forward) 

(c) Fsras 3-Trzim-T 

(d) VET 3Trzi -ER antler 
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